AGENDA

SPECIAL MEETING OF THE BOARD OF EDUCATION FORT STOCKTON INDEPENDENT SCHOOL DISTRICT

WEDNESDAY, JUNE 4, 2025 – 12:00 PM BOARD ROOM – 101 W DIVISION – FORT STOCKTON, TEXAS

The Board may deliberate or act on any of the subjects listed on the following agenda. The President may change the order of items listed for the convenience of the Board. The Board may enter into a closed meeting to seek the advice and counsel of its attorney at any time during the meeting under the authority of Texas Government Code Chapter 551.071 regarding any item listed on the agenda of this meeting or in order for the attorney to provide legal assistance or advice to the Board.

1. CALL TO ORDER

A. Establishment of Quorum

Flo Garcia, President

B. Roll Call

Ursula Sanchez, Secretary

- C. This meeting has been duly called and notice of this meeting has been posted in accordance with the Texas Open Meetings Act, Chapter 551 of the Texas Government Code.
- D. Pledges of Allegiance

Anastacio Dominguez, Vice-President

E. Invocation

Dr. Gabriel Zamora, Superintendent

2. OPEN FORUM AND PUBLIC COMMENTS

3. ACTION ITEMS

The Board may elect to Consider, Discuss, Table, Approve and/or Take Action on any of the items under this section.

A. Band Quotes: N-Tune Music & Sound

4. CLOSED SESSION

In accordance with the Texas Open Meetings Act (Subchapters D and E of Chapter 551 of the Texas Government Code), the board will now enter into a closed meeting to deliberate subjects listed on this agenda authorized by Subchapter D. Any final action, decision, or vote on a subject deliberated in the closed meeting will be taken in an open meeting held in compliance with the Texas Open Meetings Act.

- A. Discuss the appointment, employment, evaluation, reassignment, duties, discipline, or dismissal of a public officer or employee or to hear a complaint or charge against an officer or employee (551.074)
- B. Consultation with attorney (551.071)
- **5. OPEN SESSION** Reconvene to take any necessary action as a result of Closed Session
- 6. ADJOURNMENT



Agenda Item:	Meeting Date:
Band Quotes: N-Tune Music & Sound	May 31, 2025
☑ Action☑ Information☑ Discussion	
In the last two years, we have installed a double-decker band refurbished the old band trailer, and purchased a brand-new However, it has been around two decades since we have repercentage of our Pantherland Band's instruments. For the phave worked with the band director to develop a comprehens to continue improving our already fantastic Pride of Pantherland N-Tune Music & Sound is located in Odessa, which makes it support and customer service. In addition, they are part of commerce we are members.	band trailer. placed a large past few months, we sive list of instruments and Band. teasier to receive
Fiscal Implications:	
\$715,461.91	
Recommendation: I recommend approving the quotes	
Suggested Motion:	

I move to Approve the N-Tune Quotes as Presented.



1141 E. 42nd Street Odessa, Texas 79762

(432) 362-1164

Date: May 30, 2025

Invoice #:
Customer ID:

Expiration Date: 7 days

To: Fort Stockton Intermediate 1100 W 2nd Street Fort Stockton, TX 79735 432-336-4141

Salesperson	Job	Location	Shipping Terms	Buy Board #	Payment Terms
Michael	Installation	Portable System		739-24, 752-24	School Purchase Order

Qty	Item #	Description	U	nit Price	Line Total
1	M8X2	Furman 15 Amp Pwer Conditioner	\$	153.30	\$ 153.30
1	AHZED18RK19	Allen & Heath Rack Ears for ZED16FX Mixer	\$	87.99	\$ 87.99
1	AHZED16FX	Allen & Heath 16 Channel Analog Mixer with Effects	\$	959.99	\$ 959.99
1	RM150	Rapco 50' XLR Cable	\$	48.08	\$ 48.08
2	RM13	Rapco 3' XLR Cable	\$	23.50	\$ 47.00
1	ATW1422	Audio Technica Dual Channel Wireless Handheld System	\$	707.85	\$ 707.85
1	CD400U	Tascam CD/Bluetooth/USB/SD/Aux Media Player	\$	629.10	\$ 629.10
1	1SKB19R1406	SKB Gig Rig 14U Mixer Top/6U Front	\$	881.99	\$ 881.99
1	UDP214	Lowell 2U Rack Drawer	\$	255.90	\$ 255.90
1	MAUI28G3	LD Systems Compact Powered Column PA System	\$	1,599.99	\$ 1,599.99
1	MAUI28G3CB	LD Systems Castor Board for Maui 28 G3 Subwoofer	\$	169.99	\$ 169.99
1	MAUI28G3SATBAG	LD Systems Padded Carrying Bag for Maui 28 G3 Column	\$	84.99	\$ 84.99
1	MAUI28G3SUBPC	LD Systems Padded Protective Cover for Maui 28 G3 Sub	\$	59.99	\$ 59.99
1	CPR201	Hosa 3' Dual 1/4" TS to Dual RCA Cable	\$	14.35	\$ 14.35
					\$ 5,700.51
				Sales Tax	
				Total	\$ 5,700.51

Thank you for your business!

Odessa (432) 362-1164 - Midland (432) 522-1212 - Abilene (325) 677-2471



1141 E. 42nd Street Odessa, Texas 79762

(432) 362-1164

Date: May 21st, 2025

Invoice #:

Customer ID:

Expiration Date: 7 days

To: Fort Stockton HS
1200 W 17th St
Ft Stockton, TX 79735
Dr. Kenn McSperitt

Salesperson	BuyBoard	Location	Shipping Terms	Delivery Date	Payment Terms
Steven	712-23				

Qty	Item #	Description		Line Total
10	ВНН09	String Swing Sousaphone Wall Mount	\$ 117.99	\$ 1,179.90
2	HTS	Tuba Hug multi Stand	\$ 495.00	\$ 990.00
50	MH48	Manhassat Music Stand	\$ 45.99	\$ 2,299.50
50	936121	Wegner Student Chairs	\$ 95.00	\$ 4,750.00
3	127A261	Wegner Chair Storage Cart	\$ 525.00	\$ 1,575.00
3	AC1920	Manhassat Music Stand Storage Cart	\$ 325.00	\$ 975.00
1	Infreight	shipping for Wegner Product	\$ 1,035.00	\$ 1,035.00
1	CLP875B	Yamaha Digital Clavinova with bench	\$ 4,600.00	\$ 4,600.00
				\$ -
			Sales Tax	
			Total	\$ 17,404.40



1141 E. 42nd Street Odessa, Texas 79762

(432) 362-1164

Date: May 21st, 2025

Invoice #:

Customer ID:

Expiration Date: 7 days

To: Fort Stockton HS
1200 W 17th St
Ft Stockton, TX 79735
Dr. Kenn McSperitt

Salesperson	BuyBoard	Location	Shipping Terms	Delivery Date	Payment Terms
Steven	712-23				

Qty	Item #	Description			Line Total
5	YFL367H	Yamaha Intermediate Flute	\$	1,175.00	\$ 5,875.00
1	450	Fox Model 450 Oboe	\$	6,331.00	\$ 6,331.00
1	222	Fox Model 222 Basoon	\$	7,175.00	\$ 7,175.00
10	R13	Buffet R13 Clarinet w/ nickel keys	\$	3,935.00	\$ 39,350.00
1	YCL631	Yamaha Alto Clarinet	\$	7,550.00	\$ 7,550.00
3	YCL621	Yamaha Bass Clarinet	\$	8,850.00	\$ 26,550.00
1	BC155326	Buffet Contra Alto Clarinet	\$	25,965.00	\$ 25,965.00
1	41	Selmer Paris Model 41 Contrabass Clarinet	\$	40,216.00	\$ 40,216.00
3	YAS62	Yamaha Professional Alto Sax	\$	3,185.00	\$ 9,555.00
1	YTS62	Yamaha Professional Tenor Sax	\$	3,365.00	\$ 3,365.00
1	YBS62	Yamaha Professoinal Baritone Sax	\$	9,357.00	\$ 9,357.00
20	YTR8335GS	Yamaha Xeno Professional Trumpet Silver	\$	2,755.00	\$ 55,100.00
10	YHR671	Yamaha Professional French Horn	\$	5,015.00	\$ 50,150.00
12	YMP201MS	Yamaha Mellophone	\$	1,880.00	\$ 22,560.00
10	YSL448G	Yamaha F Attachement Open Wrap Trombone	\$	1,831.00	\$ 18,310.00
1	YBL620GS	Yamaha Bass Trombone	\$	4,546.00	\$ 4,546.00
5	YEP642TSII	Yamaha Neo Compensating Euphonium w/ trigger silver	\$	7,886.00	\$ 39,430.00
6	YEP204MS	Yamaha Marching Baritone	\$	3,080.00	\$ 18,480.00
5	186-4U	Miraphone 4 valve Tuba	\$	11,500.00	\$ 57,500.00
10	YSH411SWC	Yamaha Sousaphone w/ case Silver	\$	9,861.00	\$ 98,610.00
					\$ -
			Sale	es Tax	
			Tot	al	\$ 545,975.00



1141 E. 42nd Street Odessa, Texas 79762

(432) 362-1164

Date: May 22nd, 2025

Invoice #:

Customer ID:

Expiration Date: 7 days

To: Fort Stockton HS/MS Percussion

Ft Stockton, TX 79735 Dr. Kenn McSperitt

Salesperson	BuyBoard	Location	Shipping Terms	Delivery Date	Payment Terms
Steven	712-23				

Qty	Item #	Description		Line Total
5	DYNMSZ14W	Dynasty DFZ Marching Snare (Chrome Hardware) 14x12	\$ 987.00	\$ 4,935.00
5	DYNPCCMSS	Dynasty Marching Snare Drum Stand	\$ 213.00	\$ 1,065.00
5	DYNP30MPC14	Dynasty Square Marching Snare Drum Case	\$ 122.00	\$ 610.00
5	P23MTSZBK	Dynasty T-Max Snare carrier for DFZ Snare	\$ 337.00	\$ 1,685.00
5	DYNP25SNC	Dynasty Marching Snare Cover	\$ 63.00	\$ 315.00
2	DYNMT68023WB	Dynasty Elite Marching Tenors, 6/8/10/12/13 W/ BC HW	\$ 1,403.00	\$ 2,806.00
2	DYNP22MTS	Dynasty Marching Tenor Set Stand	\$ 241.00	\$ 482.00
2	DYN930MPC8023	Dynasty Marching Tenor Case	\$ 236.00	\$ 472.00
2	P23MTQBK	Dynasty T-Mas Carrier w/ Rail & SEM Mount	\$ 382.00	\$ 764.00
2	DYNP25MTC1	Dynasty Marcing Cover- Tenor	\$ 83.00	\$ 166.00
1	DYNMB14WB	Dynasty 14" Custom Elite Marching BD Black	\$ 595.00	\$ 595.00
1	DYNMB16WB	Dynasty 16" Custom Elite Marching BD Black	\$ 684.00	\$ 684.00
1	DYNMB18WB	Dynasty 18" Custom Elite Marching BD Black	\$ 707.00	\$ 707.00
1	DYNMB20WB	Dynasty 20" Custom Elite Marching BD Black	\$ 752.00	\$ 752.00
1	DYNMB24WB	Dynasty 24" Custom Elite Marching BD Black	\$ 808.00	\$ 808.00
1	DYNP25BDC14	Dynasty 14" Marching Bass Drum Cover	\$ 63.00	\$ 63.00
1	DYNP25BDC16	Dynasty 16" Marching Bass Drum Cover	\$ 65.00	\$ 65.00
1	DYNP25BDC18	Dynasty 18" Marching Bass Drum Cover	\$ 65.00	\$ 65.00
1	DYNP25BDC20	Dynasty 20" Marching Bass Drum Cover	\$ 72.00	\$ 72.00
1	DYNP25BDC24	Dynasty 24" Marching Bass Drum Cover	\$ 79.00	\$ 79.00
1	DYNP30MPC14B	Dynasty 14" Marching Bass Drum Case	\$ 129.00	\$ 129.00
1	DYNP30MPC16	Dynasty 16" Marching Bass Drum Case	\$ 135.00	\$ 135.00
1	DYNP30MPC18	Dynasty 18" Marching Bass Drum Case	\$ 146.00	\$ 146.00
1	DYNP30MPC20	Dynasty 20" Marching Bass Drum Case	\$ 152.00	\$ 152.00
1	DYNP30MPC24	Dynasty 24" Marching Bass Drum Case	\$ 168.00	\$ 168.00
5	P23MTBB	Dynasty T-Max Bass Drum Carrier	\$ 348.00	\$ 1,740.00
5	DYNP22MBS	Dynasty Marching Bass Drum Stand	\$ 236.00	\$ 1,180.00
1	ESM5SE	Dynasty Five Octave Marimba E-FRAME	\$ 15,035.00	\$ 15,035.00
1	ESBSR5R	Dynasty Elite Series Bar Set 5 Octave	\$ 6,676.00	\$ 6,676.00
2	DYNMUESV3F	Dynasty Elite Series 3 Octave Vibe W/ Titan Field Frame	\$ 6,115.00	\$ 12,230.00
2	DYNMUESM5SF	Dynasty Elite Series 5 Octave Syn Marimba W/ Titan FF	\$ 14,747.00	\$ 29,494.00
2	MUESX3.5RF	Dynasty 3.5 Octave Xylo w/ Titan Field Frame	\$ 4,432.00	\$ 8,864.00

1	MUESG2.5	Dynasty 2.5 Octave Glockenspiel, open frame design (no box)	\$ 2,749.00	\$ 2,749.00
2	MUESG3F	Elite Series 3 octave Pedal Glockenspiel w/ Titan FF	\$ 5,442.00	\$ 10,884.00
5	TAPOFF	Tapspace Tap-off dual surface practice pad	\$ 100.00	\$ 500.00
10	MUSCQ1.5	Universal 1.5" Square Clamp	\$ 26.00	\$ 260.00
1	LTS404PG	Lugwig Standard Series Polished Copper Timpani W/Guage	\$ 14,186.00	\$ 14,186.00
3	7614	Gibraltar Concert Cymbal Stand	\$ 90.00	\$ 270.00
1	C1618B	Majestic 1.5 Octave Brass Chrimes on Quantum Field Frame	\$ 6,580.00	\$ 6,580.00
10	LMXYLO2	Ludwig 2.5 Octave Xylo Kit	\$ 705.00	\$ 7,050.00
2	MCS1465MA	Majestic Concert Black Snare Drum 14x6.5 Maple	\$ 498.00	\$ 996.00
2	MCTP1009STK	Majestic 10x9 Single Head Concert Tom	\$ 257.00	\$ 514.00
1	MCTP1210STK	Majestic 12x10 Sing Head Concert Tom	\$ 278.00	\$ 278.00
1	MCTP1412STK	Majestic 14x12 Single Head Concert Tom	\$ 347.00	\$ 347.00
2	MCTP0808STK	Majestic 8x8 Single Head Concert Tom	\$ 219.00	\$ 438.00
2	TPBX	Grover Standard Temple Blocks with Stand	\$ 378.00	\$ 756.00
1	MPS1412FWA	Majestic ProPhonic Symphonic Field Drum 14x12	\$ 929.00	\$ 929.00
3	OVWB3	Black Swamp Small Overture Woodblock	\$ 18.00	\$ 54.00
3	OVWM2	Black Swamp Medium Overture Woodblock	\$ 20.00	\$ 60.00
3	OVWM1	Black Wamp Large Overture Woodblock	\$ 22.00	\$ 66.00
1	TPBXT	Grover Standard Temple Blocks with Stand	\$ 450.00	\$ 450.00
2	LP1210	LP Granite Block Set	\$ 270.00	\$ 540.00
8	SC4425MB	Gibralter Mini Cymbal Boom Arm Hideaway	\$ 36.00	\$ 288.00
6	5706EX	Gibarlter Concert Snare Drum Stand	\$ 81.00	\$ 486.00
1	ABDS3622	Adams Mahogany Concert BD 36x22 w/ suspended stand	\$ 3,583.00	\$ 3,583.00
2	TC2	Black Swamp 10" DBL Row Tamourine	\$ 224.00	\$ 448.00
3	6TRI	Alan Abel 6" Symphonic Triangle	\$ 166.00	\$ 498.00
3	506	Danmar Triangle Beater Set	\$ 11.00	\$ 33.00
				\$ -
				\$ -
			Sales Tax	
			Total	\$ 146,382.00

Thank you for your business!Odessa (432) 362-1164 - Midland (432) 522-1212 - Abilene (325) 677-2471 - Aledo (817) 441-9003



1141 E. 42nd Street Odessa, Texas 79762

(432) 362-1164

Date: May 30th, 2025

Invoice #:

Customer ID:

Expiration Date: 7 days

To: Ft Stockton Intermediate School

Ft Stockton, TX 79735 Dr. Kenn McSperitt

Salesperson	BuyBoard	Location	Shipping Terms	Delivery Date	Payment Terms
Steven	712-23				

Qty	Item #	Description			Line Total
1	SKX10	Orff Soprano 16 Bar Xylophone	\$	628.00	\$ 628.00
1	TAKX10	Orff Tenor-Alto 19 Bar Xylophone	\$	884.00	\$ 884.00
1	GKBX10	Orff Deep Bass 16 Bar Xylophone	\$	1,928.00	\$ 1,928.00
1	SKM10	Orff Soprano 16 Bar Metallophone	\$	668.00	\$ 668.00
1	TAK10M	Orff Tenor-Alto 19 Bar Metallophone	\$	888.00	\$ 888.00
1	GBKM10	Orff Deep Bas 16 Bar Metallophone	\$	1,707.00	\$ 1,707.00
					\$ -
			Sal	es Tax	
			Tot	al	\$ 6,703.00



1141 E. 42nd Street Odessa, Texas 79762

(432) 362-1164

Date: May 21st, 2025

Invoice #:

Customer ID:

Expiration Date: 7 days

To: Fort Stockton MS
2400 W 5th
Ft Stockton, TX 79735

Salesperson	BuyBoard	Location	Shipping Terms	Delivery Date	Payment Terms
Steven	712-23				

Qty	Item #	Description			Line Total
6	YFL222	Yamaha Student Flute	\$	560.00	\$ 3,360.00
1	450	Yamaha Model 450 Oboe	\$	6,331.00	\$ 6,331.00
1	222	Fox Model 222 Bassoon	\$	7,175.00	\$ 7,175.00
6	PREMIUM	Buffet Premium Student Clarinet	\$	675.00	\$ 4,050.00
4	YCL221II	Yamaha Student Clarinet	\$	2,461.00	\$ 9,844.00
4	SAS301	Selmer 300 series Alto Saxophone	\$	1,125.00	\$ 4,500.00
4	YTS480	Yamaha Intermediate Tenor Sax	\$	2,615.00	\$ 10,460.00
1	YBS480	Yamaha Intermediate Baritone Sax	\$	5,890.00	\$ 5,890.00
10	YCR2310II	Yamaha Cornet	\$	815.00	\$ 8,150.00
5	YHR567	Yamaha Intermediate French Horn	\$	3,175.00	\$ 15,875.00
4	607F	King F attachement Trombone	\$	1,935.00	\$ 7,740.00
4	YEP321	Yamaha Euphonium	\$	2,492.00	\$ 9,968.00
5	YBB321	Yamaha Intermediate Tuba	\$	5,760.00	\$ 28,800.00
8	YBB105WC	Yamaha 3/4 Tuba w/ case	\$	3,965.00	\$ 31,720.00
					\$ -
			Sales	Tax	
			Tota	1	\$ 153,863.00